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A manis 37 years old, his two sons are 8 years and

3 years old respectively. After how many years will

he be twice as old as the son's (otal age?

(A) 4 years {B) 3 years

(C) 5 years (D) 6 years

The average of 17 numbers is 45. The average of

first 9 number is 51 and that of the last 9 numbers is

36. Find the 9th number.

(A) 14 (By20  (C)18 - (D) 22

If X+ —L = 2 then find the value of 8Xx° + -j—
2x x3 '

(A) 48 (B)88  (C)40 (D) 44
From a cask of milk, containing 40 litres, 8 litres are
drawn out and the cask is filled up with water. lf the
same process is repated a second then a third time,
What will be number of litres of milk leftin the cask?
{A) 20.48 litre (B) 20 litre
(C) 19.48 litre (D) 21.58 litre
The difference in selling a coat at a profit of 4% and
6% is Rs. 12. The cost price of the coat is-
-{A) Rs.600 (B) Rs.500
(C) Rs.575 (D) Rs.625
If either 3 men or 4 women can do a piece of work in
43 days. 7 men and 5 women working together can
do the work twice as greatin-
(A) 36days (B) 24 days
(C) 28days (D) 32days
Two trains are running in opposite directions with
speeds 45 km /hr. and 55 km./hr. If the trains be of
lengths 132 metres and 118 metres respectively, they
will cross each other in -
(A) 10seconds (B) 8seconds
(C) 12seconds (D) 14 seconds
If one angle of a cyclic trapezium is triple of the other
tHen the greater ane measures.
(A) 90" (B) 105°
(C) 120° (D) 135°
If a sum of money is to be divided among A, B, C such
that A's share is equal to twice B's share and B's

share is 4 times C's share, then their shares are in
the ratio. a
(A) 1:2:4 (B) 1:4:1
) 8.4.1 (D) 2:4:1
(C) B4 o, 4
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A (B)x+4 (C) ~ © -
The average wage of 500 workers was found to be
Re 200 Later on it was discovered that the wages
of two workers were misread as 180 and 20 instead
of 80 and 220 The correct average wage is -
{A)Rs 20010 (B) Rs. 200.20
(C) Rs. 200.50 (D)Rs. 201.80
The digit in the unit's place of [{25)* + (21)® ~
(106)"™ + (T05)* — 16* + 259] is -
(A) 1 (B)8 (C)5 (D)6
If a number is divisible by both 11 and 13, then it must
be necessarily.
(A) divisible by (11+13)
(C) divisible by (11x13)

{B) divisible by (13- 11)
(D) All are false

b_ 3 an c 5 . thenratio b+c equal to-
20 27
(A) 57 8) 55
6 8
€3z )y

The area of the ring between two concentric circles,
whose circumference are 88 cm. and 132cnu. is -
(A) 780 cm?. (B) 770 cm?.
(C)715¢cm? (D) 660 cm?.

A candidate attempted 12 questions and secured full
marks in all of them. Ifhe obtained 60% in the test and
all questions carried equal mark then what is the
number question in the test?

{A) 20 {B)25 (C)30 (D)36

How many two digit whole numbers yield a remainder
of 3 when divided by 10 and also yield a remainder
of 3 when divided by 4 ?

(A) 1 {B)2 (C)3 (D)4

in a restaurant a cup of coffee costs twice that of a
cup of tea. If the cost of § cups of coffee and 10
cups of tea is.Rs. 20 how much would cups of the

coffee and 5 cups of tea cost? :
{D) Rs.3C:

(A)Rs.27  (B)Rs.32 (C)Rs.25
Q.59. The mother's age is six times her son's age.Four
years hence the age of the mother will be four times
her son's age.What is the present age of the son?
(A) 3 years {B) 4 years
(C) 5 years (D) 6 years
Q.60. On selling 33 chairs of wood Ram obtains a profit
equal to the selfing price of 11 chairs of wood. What
is his profit percentage?
(A) 48% (B)49% (C)}50% (D) 60%
Q.61. Ifthe price of a book is reduced by Rs. 5 ,a person
' can buy 5 more books for Rs.300. What s the original
list price of the book?
{A) Rs.15 (B)Rs. 20
{C)Rs. 25 (D)Rs. 30
Q62. Five bells begin totoll together and toll respectively at
intervals of 6,7,.8.9 and 12 seconds.What iy the
number of time they will toll together in an hour
excluding the one at the start 7
(A) 6 (B)7 (€18 (D)9
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A perean allawe a 10% discount for cash pa
akes a

from the marked price of a toy and stills he m
10°- gain What s the cost price of the toy which S
marked ag Re 7707

(A) Re 60D (B)Rs 610

{CYR= G20 (D)Rs 630

A number consists of three digits of which the middle
one s rero and their sum is 4 1f the number formed
by interchanging the digrts 1s greater than the number
tself by 198 then what s that number 7

(A) 301 {B)202 (C)103 (D) 101
Atrain which s 150 mlong passes a platform of 200
min 15 seconds Whatis the speed of the train?

(A) 36 kmhr (B) 84 knvhr.
(C) 64 kmhr (D) 91 kmvhr.

In agroup of 52 persons. 16 drink tea but not celfee,
while 33 dnink tea How many drink coffee but not
tea? .

(A) 17 (B) 19 {C)35 (D)22

B is thrice as fast as A. If A can finish a job in 12
days. How long will it take for both A and B to finish

the same job together?
(A} 3 days {B) 4 days
(C) 4 5days (D) 5days

A candig a pitin 5 days. B can dig itin 3 days. How
long will it take if both A and B work together?

15
" (A) r} days {B) 4 days

8
(©) 75 days (D) 2 days

Which one of the following fractions is largest?
5 11
(A) g B) 7

12 17
©) 3z (D) 55
A starts from a place at 7 a.m. with a speed of 10km
per hr. B starts from the same place at9 a.m with a
speed of 15 km.per hr. When will B meetA?"
(A)2p.m. (B) 1 p.m.
(C)3p.m. (D) 12 noon

1 1
Two equal glasses are respectively 3 and n full of

milk. They are then filled up with water ani the
contents mixed in a pot. What is the ratio of milk and
water in the pot?
(A)7:17 {B)1:3
c€ya: 21 (D) 11:23
Mr. Kumar drives to work at an average speed of 48
km. per hr. The time taken to cover the first 60% of
the distance is 10 min more than the time taken to
cover the remaining distance. How far is his office?
(A) 30km (B)40 km,
(C)45km. (D)48km.
A person has only Rs. 1and Rs 2 coins with him. if
the total number of coins that he has is 50 and the
amount of money with him is Rs. 75 tthenI the number
Rs. 2 coins are respecuvely-
of Rs. 1and (B) 35and 15
(A) 15and 35 D) 25 and 25
(C) 30and 20 (D)
- 6

http://www.csjmuonline.com

u.63.

U.64,

H.65.

7.66.

W.67.

u.68.

9.69.

n.70.

.

nr2.

w.73.

»d @y el R w Afva = uz ANz
s # g 10% gz dm & f5T R 10% wr A

E’\-Tnﬂ;. av Rt A arma A @ &R

S g 770 %, &7

(A)600%. (B)610 . (C) 620 %. (D) 630 %,

Pt s & Y or & Rl we aren 4% I

tan?mmat#:uﬁataﬁaﬂmﬁm

mﬁwﬂmmuﬁmﬂwsmt

M 7z gEh wEm T R ?

(A) 301 (8)202 (C)103 (D) 101

o Yamd R wrd 150 A, &, 200 0, 7R

Qeahf 7 15 AFS ¥ IR A R | W@ D

e R |

(A) 36 fdfl. / | (B) 84 ﬁ&w\’r./n.‘

(C) 64 fdl. /4. (D) 91 f& . /5,

52 ifrl @ e WYE ¥ 16 9@ 9 2, AfFw

Sy Td 9 | wrafs 33 arg W #) fraa af

P fR 2 AfF g & G ?

(Ay17 (B)19 {C) 35 (D)22

B,AY farpn & &1 ARk ARl Fm Y 12RAT

o @R v ¥ AR B AT fierew 9 I B

o g A Q@ IR AN

(w3 (B)afkm (C)45R= (D)sR=

AP TgaT § el ¥ WE et & ok B wW 3 R

¥ Tz WA #1 3k A SR B Y freraw & w

A fsaen W T

{A}% feq (B)4afEm (Q%ﬁq(mzm

frfafga it A PR e g =1 &
5 s 1112 17
(A) 5 Bz ©F (D) 7

foeh v & A gaw 79 10 fll, /6 A 9w A
T AT 81 B I T R} aw 9 A 15 ey,
/8 B A R G AR IRAT R B FA AR

Rrerm?
(A)Zﬁm (B)1ﬁm
{c}3ﬁmﬁ _(011231%%

.1 '

TFR ¥ R R e T ol e R 2ty
@
o T R 1 e e el g

L84
(A)7:17 (B)1:3 ©)s: <o
AT 7 3 e l-?‘l (D)11:23

| T 60% 0y B AR
/T8 T Yo < 8 st 10 e e

T T %, e 2, R 1 7%

T 1 oy S S 75,

(A) 15 3k 35 ¥ i'wﬁmm
ouRa e
25

. ST03 UPPCONST#BLEIZMQ

wod durjuonuilso mmm//:dny



wod - durquonwilso mmm//:dny

Q.74.

Q.75.

Q.76.

http://www.csjmuonline.com

If abus travels 160km. in 4 hr. and a train travels 320
km in 5 hr. at uniform speeds.then what is the ratio
of the distance travelled by them in one hr.?
fA)8:5 (B)5:8
(Cy4:5 (D)y1:2
There are 100 students in a particular class 60%
students play cricket ,30% student play football and
10% students play both the games. What is the
number of students who play neither cricket nor
football?
(A) 25 (B)20
(C) 18 (D) 15
A village having a population of-4000 requires 150
litres of water per head per day. It has a tank
measuring 20 m x 15 m x 6 m. The water of this tank
will last for -
(A) 2 days .
{C) 4 days

{B) 3days
(D) 5days

b ol o e ol T 1

W.74.

u.7s.

H.76.

afy o @ v A T WO T 40 N 160
ﬁ?ﬁ.@mﬂcﬂﬁﬂ?ﬂwmﬂsm} i 320
far). & @ ag el 2, ar g gRIGH S 8
A T At F T FTIE &

(A)8:5 (B)5:8 (C)4:5 (D)1:2
fapey, e FrefRfy @ wEm 100 81 60% Ryem
frde Aaa & 30% Rremdt Gedla Qe & aw 10%
e 2R A A &1 W Renfat @ T
A 7 7 frde A ¥ 3R 7 & weala wer &
(A) 25 (B)20 (C)18 (D) 15

T Wi &) e 4000 € form Ry ufy af
afifes 150 . W B HEIIHAT & TS a4
% O @ @ 20 . x 15 A x 6 F, &1 T A
=) BT el fpas AT § WS g6

(A 2fm  (B)3fRA (c)afem (D)sfe=

http://www.csjmuonline.com
Whatsapp @ 9300930012
Send vour old paper & get 10/-
FUT W AuE S 3T 10 w99 ai,
Paytm or Google Pay &

http://www.csjmuonline.com

wod durjuonuilso mmm//:dny



